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Time : 2 Hours

Cool off time : 15 Minutes

/~ General Instructions to Candidates : \

® There is a 'Cool off time' of 15 minutes in addition to the writing time.

® Use the 'Cool off time' to get familiar with questions and to plan your
Answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

e @ & o @ @9

Electronic devices except nonprogrammable calculators are not allowed in
-the Examination Hall.
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Answer all questions from
question numbers 1 to 5. Each

carry one score, Bx1=35)

1. What is the base of Mayan
Number System?

2. Name any two preprocessor

directives in C++.

3. Which statement in C++ can
transfer control of a program to

a labelled statement?

4. Which character is used to

delimit the string in memory?

5. An electronic device used for
communication between

computers through telephone
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Answer any nine from question 6 aymad 16 cuenwigg daidsyemglad
numbers 6 to 16. Each carries two agemeilele 9 agenanilol 9EMOenP®) b
scores. (9 % 2 = 18) | acenomiimye 2 miesod allme. (9 x 2 = 18)
6. Draw the block diagram of John 6. cmoed cuserd mymomd dmoalysaledd

Von Neumann's computer agISM UOWEE)E.
architecture.
7. List any four image file formats. 7. opeommlagpe moel Deom anwa

en0odaogend el eoigpdss.

8. What is cache memory? 8. @oa eamd) agmomd agomoen?

9. Draw a flow chart to find the 9. an ddea cmpeetied almiddene
area of a rectangle. ene) allslenymalimas eqgoalods

CUDW B

10. What are the different types of 10. C++ o mresnmenarios alymymis
characters in the character set @o MREHMVMED af)ImOaSaoe?
of C++?

11. Classify data types used in C++. 11. C++ ot gprlewouilgllgies sowRd

E6Salldth MmoniEles)s..
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12,

13.

14.

15.

16.

How many bytes are required to

store the following arrays?
int a [2] [5);

int b [25];

Distinguish the memory
allocation of the following
initialization statements,

Char name [10]="TOM".

Char str [}="Tqo el

Correct the Program and write
the output.
#include-ﬁicstream:-

using namespace std;

int main {)

{
Char sStr [l="Green
Computing”;
int n;
n=strlen (str).;
cout<<n;

return 0;

}

What is firewal]?

What is phishi ng?

K-406

12,

13.

14,

15.

16.

24Ues esosjeritlenimn meowsd
Mosdlemmala’ agim ODEURIBR
EBOUGR)@OeT?

int a [2] [5);

int b [25];

LSS esosmildlenm (o,
lIMimoImaaIns aammd) alleryxroe
erudaily 061061,

Char name (10]="TOM";

Char str []=Tom-;

SddNo vailmoesd] B34S ng) iy,
#include<iostreams
using namespace std;

int main ()

n=strlen {str);
cout<<n;
return 0;

}

aD@WBUIR agiemoat agyemaen?

aflasflots agymond agormoeni’?
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Answer any nine from question
numbers 17 to 27. Each carries
three scores.
17. a) Number of symbols in a
number
called ..........
b) Find MSD in the decimal
number 7854.25.

system is

¢) Find octal equivalent of
(400),,.

18. a) ASCII stands for ...

b) Find the largest number in

the list.

1) (10000),
i) (1000),
i) (100), ,

iv) (10) .

19. a) Name two different language
processors which translate
high level language program
into machine language

program.

b} What is operating system?

Give two examples.

20. Distinguish between Entry-
Controlled loop and Exit-

Controlled loop.

K-406

(9 x3=27)

17 oymad 27 UL 88 @aiom)emglad
agemelale 9 agepanial DODRORP ]
agramimye 3 miesod allme.
trerus

17. a) any migonlea

aflamemgios agEpesm ...
agm aflgleaym.
b) 7854.25 agm
mrucieg MSD eesmaam;e.

e oyl mal

¢) (400),, oF ayepaom esssa (oL
BEETRANT .

18. a) ASCU wes ayden ojizosm

b) eligdleer apgase aelw Moosuly

IR o

i) (16000),

ii) (1000),

1) (100), ,

v) (10),
19. a) @ean T ITeNT ) eIDoew) e’
elalownodlem eaafld evosws’
Slaldnoadesh @ogimaimes mend
BI90BUIE BlaIMUROIBRNS Gald
ag)Fim .

{9#3:
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27)

b) agemosm 8dqajsogletd’ migye? .
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dherba(Somday 8llajie equdala]gy”
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21.

22.

23.

24.

25.

a) Draw a flow chart for the

following algorithm.
step 1 : Start
step 2 : N=1
step 3 FPrint N

stepd : N=N+1

step 5 if N<=10 Then Go To
step 3
step 7 Stop

b) When we .implement the
~ above algorithm in C++, what

will be the output?

What is the role of relational
operators in C++? Give suitable

examples.

Distinguish between break and

continue statements in C++.

If 24, 54, 89, 56, 76, 42, 5 are the
elements of an array, illustrate
the working of selection sort
algorithm for sorting these

elements in descending order.

Write a C++ program to input
the scores of 5 students and
display them in reverse order

using an array.

- K-406

21. a) ayoues

22.

momlales om
mddewnotloomlang u@omaﬁgj‘
CLIORISE) .
step 1 Start

step 2 : N=1

step 3 Print N
step 4 N = N +'1
step 5 i1f N<=10 Then Go
step 3
step 7 Stop ;
b) ojeglad a0sEm] Rl sam

mradguodime Ca+ -af pucuders
ofl@eemuod® agw &vgays

eidlanie?

C++ @b diseinzemed oo sOR0meS
A® ag)moan? MMEWORYBIW

EINVEMENE ).

C++ o2 break, continue agor
eFoodet subcidoassoye.

24, 54, 89, 56, 76, 42, 5 agoriicu
@) meouies menantd apasmaldl
omelEs @ amody mealamodime
Oalowiuilel EUNW @RUIAIAOEM
ool agyeimymal ol salal
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26. Explain the difference between
Call-by-Value and Call-by-
with

Reference methods

suitable examples.

27. Explain the scope of variables in

a C++ program.

Answer any two from question
numbers 28 to 30. Each carries

five scores.

28. List and explain wvarious

components of system software.

29. a) What will be the output of
the given C++ program?
Justify your answer.

# include <iostream>
using namespace std;
int main()

{

int a,b,num;

for (a=1;a<=10; ++a)

{

for (b=1;b<=5; ++b)

num = a * b:.

cout <<num<<endl;

}

return 0;

}

K-406

(2 x5=10)

(2)

119
26. Call-by-Value, Call-by-Reference
agod dialeud modleyss cymioae

g30annem Madime culloualen .

27. amy C++ suowoddd scudlwenias

s@s aydadel alloudleani.

28 o)oad 30 cuenw gs ealoaiamglnd
agemlele 2 agepanilal pomoe S Lm ).

acsroariimie 5 misaod allme. (2 x 5 = 10)
28. mige emoadgauadles afllafw

QIS HEMEIOS agle:  mlooms

cullon Bl o6 .

29. a) mmidlesym C++ spuawodledd
avg all§ agmowlalesio?
mlemgias EMmMo
ol 8.

# include <iostreams-
using namespace std;
int main()

{

int a.b, num;

for (a=1l;a<=10; ++a)

{

for (b=1;b<=5; ++b)

num = a * b;
cout <<num<<endl;
}

return 0;

} (2)
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b)

30. a)

b)

c)

K-406

Rewrite the following
program using while and do
veeene. While loops. _
(Write seperate programs.)
# include <iostream:>
using namespace std;
int main()
{

int i;
for (i=1;1i<=10; i++)

{

cout <<i;

}

return 0;

URL stands for .......ococoennnee

Explain the format of URL

with an example.

What is the use of URL in

computer networks?

(3)

(1)

(3)

(1)

b) ajcues

30. a)
b)

c)

BH05 1 EmIE] #5010
elndindo while egafio 4o ........
while eijalio palewowlal
SOUSUO0 af)FIm)ds.

# include <iostream>
using namespace std;

int main()

{

int i;
for (i=1;i<=10; i++)
{
cout <<1i;
}
return 0;
URL eo@ aydepojoisoem’

URL o seism gadanmemo

madlme lloudlee)ds.

@mondyst wynueedd URL ad
Dalewivo agyE ?
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